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BSC -201
( Use Separate Answer Scripts for Objective & Descriptive )

Duration : 3 hrs. Full Marks : 70
Time : 20 min. ( J Marks : 20

Choose the correct answer from the following: 1X20=20

I. The product of the reaction will be

|/-\I ether
—_— e

Br Br 2Na
a. cyclopropane b. cyclobutane
¢. Propane d. butane
2. ElcB follows
a. single step mechanism b. two step mechanism
¢. three step mechanism d. Pseudo one step mechanism

3. Oxymercuration-Demercuration reaction gives
a. Saytzeff product b. Hoffmann product
¢. Markovnikov addition d. Anti-Markovnikov addition

4. The solvent used for Wurtz coupling reaction is

a. Dry alcohol b. Dry ether
¢. Dry Acetone d. Chloroform
5. Hydroboration of alkenes give
a. Anti-Markovnikov product b. Markovnikov product
c. Both a and b are possible d. None of a and b are possible

6. The effect that refers to the polarity produced in a multiple bond in presence of
attacking reagent is

a. Inductive effect b. Electromeric effect

¢. Resonance effect d. Hyperconjugation
7. What is the hybridization of C-atom in the methane molecule

a. sp b. sp2

c. sp3 d. none of the above
8.  Which of the following is the correct order of bond lengths:

2. C-C<C=C<iG=C b. C-C>C=C>C=C

c. C=C<C=C<C-C d. C=C>C-C>C=C
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3. a. Deduce detailed mechanism of Oxymercuration-Demercuration 5+2+g
. 2 . =1
reaction of alkenes taking a suitable example.

b. What is Frankland reaction?

c. What will be the product of the following bromination reaction?
Deduce the mechanism with proper stereochemistry

Br2
—_— ?

4. a. Define heterocyclic compounds. Give two examples of heterocyclic ~ 2+3+2+

compounds. S0
b. What is hybridization? Explain the shape of methane molecule
with the help of hybridization.
c. Explain homolytic and heterolytic fission of a covalent bond.
d. What are carbocations? Illustrate the shape of methyl carbocation.
5. a. Give reasons why when HBr is added to propene, 2- 2“2"1?)

bromopropane is the major product.
b. Complete the following reactions and identify the products:

Ethanolic NaOH
(i) CH,CH,CI - Product

Chloroethane

(ii) CHyCH,CI Aqueous NaOH o Product

Chloroethane

c. What is Annulene? Write the structure of [8] annulene and
comment whether it is aromatic, antiaromatic or nonaromatic.
Explain why [10] annulene is nonaromatic.
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